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MOMENTUM TALENT SEARCH EXAM

PART- I (MATHEMATICS) HT—1 (o)

4
1. What is the value of ‘sin0’ if tan O 1s (_Ej? 1. sin O 79 STT BT IR tan O F 7 (_%) 3

4 4 4 4 LAV _4 4
4 4 5 5 LA BRI}
(®) gbut not 3 (D) Zbut not 2 ©) 5 5 T& (D) 4 4:@

a
2. If (§>4j is the midpoint of the line | 5. ufz g A(-6, 5) 3R B(-2, 3) F1 e areh

segment joining A (-6, 5) and B(-2, 3), qUe @7 A g (14) 3G E A R
then what is the value of ‘a’? 3

(A) 4 (B)-12 (A)—4 (B) 12
(C) 12 (D) -6 ©) 12 (D) -6
3. Ifthere are n Arithmetic means betweena | 3. Ifg asiR bd 99 & n oI 717 € I 9

& b then what is their common difference? AT 3R ST DITY |

n-—1 b-a n-1 b-a
A) —— B —
( )b+2 ( )n+l (A)b+2 (B) n+1

a—b b+a a—b b+a

D

©) — D) — ©) — D) ——

Space for rough work

MOMENTUM Education Pvt. Ltd. : Betiahata Chowk, Gorakhpur. PH. 6389138701 #1



MOMENTUM TALENT SEARCH EXAM

4.1fp, q and r are the zeroes of the polynomial
f(x) = ax® + bx? + ¢x + d, then the value of

1 1 1

p q r

-b C
(A) B)
© -3 (D) -

4.7 9895 flx) =ax’ +bx’+cx+d & p,q3AR r&d

1 1 1
g, a0 E*‘a*‘; BT HH ST DI |

-b c
(A) ' (B) 2

C C
©) ] (D) 4

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

5. In the given figure, two circles (having
centres O, and O,) touch externally at point
P.S T, and S,T, are two tangents at points
S, and S, respectively.

If ZO,PS,=20°, find the measure of

/PST,
(A) 20° (B) 50°
(C) 70° (D) 90°

5. 1 W o @1 9 s &= 0, 3R 0,8,
TP gAY BT fdg P WR AR A WY B § |
ST, &R ST,a ¥l € fag S, 3R S, W
hHIT:

afE £0,PS, =20° A1 LPS,T, &I AF 1T DI |

/PST,
(A) 20° (B) 50°
(C) 70° (D) 90°

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

6. Find the area of a triangle whose vertices
are (0,0), (0,b) are (x,y).

(A) > (B) xy

b
© % (D) by

7. If the pair of linear equations 3x + S5y =3
and 6x + ky = 8 do not have any solution,
which of the following is true?

(A)k=5 B)k=10
Ok =10 D)k #5

6. 2R &1 eha o1d Bifoig R 2y (0, 0),
(0, b) 3R (x,y) B

(A) > (B) xy

bx
© > (D) by

7. Hﬁﬁ@@ﬂﬂ"q3x+5y=33ﬁ?6x+ky=8,
BT DS & A8l 8| O 9 & F B A1 A
g7
A k=5
(C) k=10

(B)k =10
(D)k # 5

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

8. Inthe given figure, A and B are the centres

of two circles of equal circumference. CD
1s tangential to both the circles and parallel

to AB.

If ‘r’ is the radius of the circle with centre
A, what is the area of quadrilateral ABCD
in terms of ‘r’?

(A)4r? (B) r?

(C)2r? D)2r

8. f T oA # AR Ba= ¢, 31 g & fora

gRf sxeR 21 CD wrff ¥ <FF 9 W @R
AB & JHItR 2|
D C

NP

I 'r g A B ST € a1 ISl ABCD &l
g% r B HeW H T BT

(A)4r? (B) r?

(C)2r? D)2r

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

9. In the given figure, AABE is inscribed in a

circle with centre O. ZEBC =90° BC||Ed,
EB = BC and AE = 8. What is the area of
the quadrilateral EBCD?

A'\bg_/h D
(A) 192 (B) 83
(©) 643 (D) 128

1 1
10. If x° +7=7, find the value of x° +?.

(A9 (B) 18
(C) 49 (D) None of these

9. faI R o H Byst ABE gt H a1 11 8, et
&% 08| 58l LEBC =90°,BC||ED, EB=BC
3R AE =8 I =ifyet EBCD &1 &3the] i difor |

A'\bg_/h D
(A) 192 (B) 8/3
(©) 643 (D) 128

1 1
10. IfS x2+7=7, ar x3+? BT 7T 27

(A) 9 (B) 18
(©) 49 (D) 39 ¥ BTg el

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

11.If a + b + ¢ = 0, then find the value of
a b
—_——
bc ac ab
(A)O B) 1
©)-1 (D) None of these

12.The value of x* + 3x? + 3x - 7 is equal to
A)x+1)x>+4x+7)
B)(x-1)x*+4x+7)
O)x-1)x*-4x+7)
(D) None of these

13.x* + 2x° - 2x? + 2x - 3 is exactly divisible
by
(A)x*+x-3
(C)x2+2x +3

(B) x> +2x -3
(D) None of these

n.afTa+b+c=0, Z_c_'_%_'_;_b DT {11
BT |
(A) 0 (B) 1
©) -1 (D) & ®Ig &l

12.X° + 3x2 4+ 3x - 7 IR © |
A)x+1)x>+4x+7)
B)(x-1)x*+4x+7)
O)x-1)x*-4x+7)
(D) $T & PI$ T

13. x* 4+ 2x3 - 2x2 + 2x - 3, §¥Ul U A T H
 fHeRy W 77
(A)x*+x-3
(C)x2+2x +3

(B) x> +2x -3

(D) 3777 & ®Ig T

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

14. In figure /||m, then x =

. /

14. 7= #, Al ||m, @ x=

/ f

65 : 65 2
) / 40° — 5 / 40’ > m
(A) 105° (B) 65° (A) 105° (B) 65°
(C) 40° (D) 25° (C) 40° (D) 25°

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

15. In figure, if EC||AB, /gcp=70°and
/BDO=20° then ZOBDs .

E A
z“’ 0/
C D

(A) 20°
(C) 60°

(B) 50°
(D) 70°

16. If (4, 19) is a solution of the equation y =
ax + 3, thena =
(A)3
©)5

(B) 4
(D) 6

15.f93 A, afe  Egc|4B,zECD=70°,
/BDO=20°, N ,0Bp T H1 &7

E A
z“’ 0/
C D

(A) 20°
(C) 60°

(B) 50°
(D) 70°

16.3f¢ (4, 19) FHIHRIT y = ax + 3 &I Udh
AT, Ala=
(A)3
©)5

(B) 4
(D) 6

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

17.The sum of length, breadth and depth of a
cuboid is 19 cm and the length of its
diagonal is 11 cm. Find the surface area of
cuboid.

(A) 220 cm?
(C) 200 cm?

(B) 240 cm?
(D) None of these

18. The value of
(Va1 W3-1) (V3 -42)
(] (o]

(A)2
(C)0

1S:

(B)1
(D) 4

17. TP AT &1 TS, drsls dT S dTs Bl
ANT 19 THT B | 3R B0 & w18 11 91
g, A1 T BT U &5l SId HIToTY |
(A) 220 cm? (B) 240 cm?

(C) 200 cm? (D) 39 ¥ BT e

18 (\/\/§+1+\/\/§—1)2(\/§—\/§)
]

BT AT 27
(A) 2 (B) 1
©)0 (D) 4

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

19.1f 3*= 6¥= 18% when x, y, z #0, then

1.1,

X y z

(A)0 B) 1

(©)2 (D) None of these

20. If figure, If =5 and £=4, then the
X X

value of x is:

(A) 8°
(C) 12°

(B) 18°
(D) 15°

19. If¢ 3*=6v=18*TT@l x,y,z #0, I

1,

X y z

(A)0 (B)1

(©)2 (D) ST 9 BIE eI

20. By § afe gzs iR 5:4 T x BT 41

27
(A) 8 (B) 18°
(C) 12° (D) 15°

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

21.If V is the volume of a cuboid of
dimensions X, y, zand A is its surface area,

then =
en

(A) X2 y2 Z2

Hr,r,r
(B)2 Xy yz zX

1{1 1 1
(C)5—+—+—j

1
®) &,

22. The value of
(0.013)" +(0.007)’
(0.013)" = 0.013x0.007 +(0.007)’

(A) 0.006 (B) 0.02
(C) 0.0091 (D) 0.00185

1S:

21.3fe V U O9 T 3T & foTgh!
AT X, y, 2z 3R AAE BT &bl A

A
ar v g°
(A) X2y 22

Hr,r,r
(B)2 Xy yz zX

1{1 1 1
(C)5—+—+—j

1
®) &,

(0.013)’ +(0.007)’
" (0.013)" —0.013x0.007 +(0.007)’
BT 7 87
(A) 0.006
(C) 0.0091

(B) 0.02
(D) 0.00185

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

23.1f O is the center of the circle, then find
the value of x in the given figure.

(A) 60
(C) 90

(B) 30
(D) 45

24.Given /POR=3xand ZQOR=2x+10". If
POQ is a straight line, then the value of x
1s
(A) 30°
(C) 36°

(B) 34°
(D) None of these

25.1f (x/g)ﬁy =9and (\/5)”’ =32,then2x+yis

(A) 1 (B)0
(C) 17 (D) 11

23. 3 O ¥ ¥ g &1 &7x @, Al x Bl
H =TT DI |

(A) 60
(C) 90

(B) 30
(D) 45

24.f331 8 /POR = 3x, ZQOR = 2x+10° & POQ
TS AR ¥@r g, dr x & A g7
(A) 30° (B) 34°
(C) 36° (D) None of these

25.3f% (V3) 7 =9 e (V2) =32 (2x +4)

A BETT—
(A) 1 (B) 0
(C) 17 (D) 11

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

PART - II (SCIENCE)

(BIOLOGY)
26. Stomach is the site of digestion mainly of:
(A) Carbohydrate (B) Fats
(C) Proteins (D) All of these
27.Instant source of energy is:
(A) Fats (B) Proteins
(C) Minerals (D) Vitamin

28.The absorbed water can rise to the highest
point by:
(A) Root
(B) Imbibition force
(C) Force of capillary
(D) Transpirational pull

29.Which of these is abiotic component of
ecosystem:
(A) Light
(©) Soil

(B) Water
(D) All of these

30.Three primary nutrient required for plant
growth are:
(A) Chlorine, Magnesium, Nitrogen
(B) Nitrogen, Phosphorus, Potassium
(C) Calcium, Sulphur, Magnesium
(D) Carbon, Hydrogen, Molybdenum

qrT—2 ( )
SIEREEIR))

26. MR H H&h: fhae! Ure BIar 87

(A) dreiEgged  (B) g

(C) urcH (D) SWRiad a4
27. 91 # 9 drmifetd Sl BT WId BIF 87

(A) 7T (B) W

(C) Gt ugred (D) faeri=

28. IMEARINT el Joaad g W &Y ygadl &7
(A) 7t 719 &1
(B) 3™+ grR1
(C) af¥r@r a1 grRT
(D) areurcas Réard gRy

29. TIRREIfIS T BT 370 I D T 301 TSh &7
(A) gt (B) STt
(C) a1 (D) SWRiad a4

30. 791 # & @9 ¥ A9 9= UIve dd Uil &
faer & fog o8 2|

(A) TR, FIRRE, g
(B) TIEgIoM, BIABRY, YRR
(C) dfcerad, AedwR, ARHIRRH

(D) ®1eH, ETSgio, AlclideT

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

31.Collenchyma is considered living tissue
because its cells have:
(A) Cell wall
(B) Vacuole
(C) Protoplasm
(D) Angular thickenings

32. Gymnosperms are characterised by:

(A) Sieve tubes (B) Naked seeds
(C) True fruits (D) Flowers

33. Shape of RBC is:
(A) Spherical (B) Polygonal
(C) Discoidal (D) Cuboidal

34.A plant cell becomes turgid due to:

31. BIGBISAT DI SfAd BIIBT AT ST & FifP
IS U B—

(A) BT AR
(B) Rfacer

(C) Sirg ===

(D) ®Ioia drem

32. IFTGAGIS B WM A 28—
(A) Treh Fferard (B) el raven # i

(C) wa (D) et

33. ofTl X BIOTHISA BT AMHR BT BIAT 27
(A) e (B) g
(C) afsram (D) smardwerdst

34. UTIQY DIRHT fHd aog & THat Al 2 |

(A) Plasmolysis (B) Exosmosis (A) W (B) afgusre=er

(C) Endosmosis (D) Electrolysis (C) sf: wrawer (D) faga siere
35.Cardiac muscles are: 35. §IT P) ARTURMT AT 2t 27

(A) Striated (B) Involuntary (A) ot g (B) srifta®

(C) Both A and B (D) Voluntary (C)A, B <1 (D) Wfze®

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

(PHYSICS)

36.A ball is projected upwards with a velocity
30 m/s. The distance travelled by the ball
in 4 seconds is: (Take g = 10 m/s?)
(A)40 m (B) 50 m
(C)45m (D) None of these

37.The acceleration will be positive in:

L\

D

U

(I1I) (Iv)
(A) T'and III (B)I'and IV
(C)IIand IV (D) None of these

Gl )
36. SR QM &I 3R TP g 30 Ho /A0 &I T
J Bl S 2| e gRT 4 Abvs § dF Pl TS

21 (g= 10 Ho/H0?)
(A) 40 Hiex (B) 50 #Hiex
(C) 45 Hrex (D) 37 &1 BIS =TE

37. <IN €TATcHSD g‘l—

L D

D)
(I1T) (IV)
(A)1td I 3 (B) 1 vd IV #
O U IVY (D) 3% 78

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

38. What is the reading of spring balance in
the following device? (take g = 10 m/s?)

LB
(A) 40 kg (B) 20 kg
(C) 15kg (D) None of these

39. Escape velocity for a body A of mass m
projected from earth is 11.2 km/s if another
body B of mass 2m is projected form the
earth, its escape velocity will be:

(A) 22.4 km/s (B) 11.2 km/s
(C) 5.6 km/s (D) None of these

40.1 atm is equal to:
(A) 1.01 x 10°Pa
(C) 1.01 x 10°Pa

(B) 1.01 x 10*Pa
(D) 11.01 x 10°Pa

38. & T IUHRT # R JeT BT UISTH BRT—
(g = 10%10 /H0?)

TITET
(A) 40 f&um0 (B) 20 &m0
(C) 15 fawumo (D) 7% & P18 &

39. M SFHA B fh¥T a%] A BT YAl F TR T
112 fHio /30 B A fsdt 2m =99 &1
&g B &1 gedl ¥ Bepl S A1 SHBT YA o
-

(A) 22.4 f&=iio /90 (B) 11.2 fasiio /%0
(C)s6 o /50 (D) s9H & @Ig A1

40. 1 atm s¥TeR 2—
(A) 1.01 x 10°Pa  (B) 1.01 x 10*Pa
(C) 1.01 x 10°Pa (D) 11.01 x 10°Pa

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

41.Which of'the following distance (s)-time(t)
graphs is NOT possible?

S4 )
(@) (®) 1 /1
<7t
S/ S
© (d) i .
VN

42. A body floats with 1/3rd of its volume
outside water and 3/4th of its volume
outside liquid, then the density of the liquid
is:

3 8
(A) gg/cc (B) gg/cc

Cg/cc Dﬂ/cc
(©) e (D) 5

41. Fr=IfaRad | @I |1 SA(S)—7A(t) IT6 F9a
T8l o

S4 )
(@) (®) 1 /1
<7t
S/ S
© (d) i .
VN

42, U I YA 3T BT 1,/3 9N U & qrex
IR 3 IMITH BT 3 /4 9T AR P 98- AR

2, dl d)eT Bl I 2 |

3 8
(A) gg/cc (B) gg/cc

Cg/cc Dﬂ/cc
(© e (D) 5

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

43.A particle of mass M strikes a wall at an
angle of incidence 60° with velocity V
elastically. Then the change in momentum
1s:

MV
(A) N (B) MV
©)-2MV (D) Zero

44.1f the distance between two masses be
doubled, then the force between them will
become.

(A) 1/4 times (B) 4 times
(C) 1/2 times (D) 2 times
45.Velocity of sound is maximum in:
(A) O, (B)N,
(CO)H, (D) He

43. M M &1 U6 HI7 Bl aR | 60° &1
HIOT g9 §C V AT ¥ YA WY ¥ THAT 2 |

ar s GaiT # gRads anm—
MV

(A) T (B) MV

(O)-2MV (D) Zero

44, I 58 <1 gIEEI & 919 B A IAAT IR
& O A7 S 91 I dTell 9ol 81 STRITT—

(A) 1/4 (B) 4

(O) 1277 (D)2 7T
45. S BT I AfTHTH BTT—

(A) O, (B) N, #

(C)H, ¥ (D) He #

Space for rough work
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MOMENTUM TALENT SEARCH EXAM
(CHEMISTRY) SIREREEIS)

46.Which of the following is a redox reaction?
(A) CaCO,— CaO + CO,
(B) H, + Cl,— 2HCI
(C) CaO +2 HC1 —CaCl, + H,O
(D) NaOH + HCI— NaCl + H,O

47.Total number of negative ions present in
Bleaching power (CaOCl,) is:
(A)1 (B)2
©)3 (D)4

48. How many moles of electrons weight 1kg?
(mass of €=9.1x10"""kg)

1

(&) %107 Mol

1
6.022x10> Mol

1

© 6.022x10* x9.1x10
(D) 6.022x10%* mol

(B)

—7 mol

46. f1 § 9 DN U SMRNBRU—MIA NfAfhar 87
(A) CaCO, - CaO + CO,
(B) H, + CL —» 2HCI
(C) CaO + 2 HCl —»CaCl + HO
(D) NaOH + HCI—NaCl + H,0

47. <N gresx (CaOCL) # el FoMcHD RIHT
B AT B
(A) 1
€3

(B) 2
(D)4

48. = AT golag™i & WR 1kg gF?

(getaeT™ o1 gegAE =9.1x107! kg)

1

(&) %107 Mol

1
6.022x10> ™ol

1
(©) 6022107 x9.1x10°
(D) 6.022x10* mol

(B)

T mol

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

49. Which of the following is an amide
functional group:

i i
(A) —C—NH. (B) —C—-OR
Cl) O
(©) —Cc—c1 (D) —
50.The compound having 26% nitrogen and
84% oxygen will be:
(A)NO (B) NO,
(C)N,O, (D)N,O

51.Which law is explained by the formation
of N,O, N,O,,N.O,, N.O..
(A) Law of deﬁmte proportlon
(B) Law of partial pressure
(C) Law of multiple proportion

(D) Law of fixed proportion

49. 91 § ¥ o THIgS fhAtH e |9 27

i i

(A) =C—NH. (B) —C—O0OR
ﬂ O

(©) —Cc—cCl (D) —

50. 26%TSSIoT 3R 84% SRS Y&+ dTell
AfrH BT |

(A)NO
(C)N,0,

(B) NO,

(D) N,O,

51. N,O,N,O,,N,O,, N,O, & 9+ ¥ w1y fraw
BT ARAT BT 27
(A) ¥ srgurd &1 e
(B) 31ifRrep <19 o1 o

(C) 7o argura a1 g4
(D) MeiRa argurd &1 M

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

52. Which of the following group are
isoelectronic:
(A) Ne,Fr,02
(O) CL, Ar, K*

(B)N3, 02, Ar
(D) CI', Ar, K*

53. The Number of neutrons present in 10 mg

of H O™,
(A) 9x10°N, (B) 5x10°N,
(C)4x> N, (D) 3x10°N

54. The formula of a metal phosphate is MPO,
The formula of it’s chloride will be:
(A) MCl (B) MCl,
(C) MCl, (D) MCl,

55.The correct order of Electron affinity is:

(A)F>CI>Br>1 (B)I>Br>CI>F
(C)Br>F>Cl>1 (D)Cl>F>Br>1

52, 71 % & ®IF AT W9 WHgelagl-id &7
(A) Ne,F*,0~ (B) N, 02, Ar
(C) CI, Ar, K* (D) CI, Ar, K™

53. 10 fmo H O™ # fae =ggr ef?
(A) 9x10°N, (B) 5x10°N
(C)4x>N, (D) 3x10°N,

54. % €] & HRBS &1 77 MPO, & 560 FelRigs
& I3 BT

(A) MCI (B) MCL,
(C) MCl, (D) MCl,

55. SIagT el &1 el A 2
(A)F>Cl>Br>1 (B)I>Br>CI>F
(C)Br>F>Cl>1 (D)Cl>F>Br>I

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

PART - III (REASONING)

Direction for Q. No. 56 & 57: Find the odd
one out in the following figures:

56. Q'/ /@
(a) (b) (©) (d)
A)a  BDb (©)c (D)
57.
@ HH | 3
(@) (b) (©) (d)
(A)b  (B)d (C)a (D)c

Direction for Q. No. 58 to 59: Find the missing term
of the given series:

58.10, 18, 28, 40, ?, 70

(A) 48 (B) 50
(C) 52 (D) 54

59.Y,J,X,K, W,L,V, M, 2, 2.
(A)N, U (B)W, O
(C)U, N (D)0, U

HNT—3 (AT )
Y3 Ho 56 IR 57 & forw fAader ) 12 oo #
Told Ug ddlgd—
56, f :
@) (b) ©) ()
A)a  (B)b (O)c (D)d
57.
@ M M
- T
(@ (b) © (d)
(A)b  (B)d (C)a (D)c

Y3 o 58 W 59 & for¢ fAder : & 7€ oyoft #
Ui ug Fargd—

58. 10, 18, 28, 40, ?, 70

(A) 48 (B) 50
(C) 52 (D) 54

5.V, ], X, K, W,L,V, M, 2, 2.
(A)N,U B)W, O
(C)U, N (D)0, U

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

60.1f in a code language FILN is written as
DGIJL. What will be code of IMPT in the
same language?
(A) ILNR
(C) HLMS

(B) HKNR
(D) GLNF

61.A is B’s father, B is C’s daughter, Eis D’s
only sibling. C is D’s only daughter. How
is B related to E’s niece?

(A) Niece (B) Granddaughter
(C) Daughter (D) Mother

62.A clock is set to show the correct time at
4pm. The clock loses 12 minutes in 48
hours. What will be the true time when the
clock indicates 6pm. The next day?

(A) 6:06 pm (B) 6:10 pm
(C) 6:20 pm (D) 6:12 pm

63. What day of the week will 1 January, 2018 be,
given that 1 January, 2012 is a Saturday?
(A) Monday (B) Saturday
(C) Sunday (D) Friday

60. Ife el e 9T # FILN &1 DGJL foram

Sar & dF S 9er § JMPT & f59 uaR
foRar SR |

(A) ILNR
(C) HLMS

(B) HKNR
(D) GLNF

61. A, B &1 fuar 2, B, C®! g1 8, E,D &1 UeHH
WM AE 8 C,D & & A9 G 2| B, E @t

Tl 9 o gerR g 8—
(A) i (B) ot
(C) s (D) =

62. Ud Sl 4pm & FEl T9I Pl YR H &
forg eraRera o1 Y 2| TST 48 Bl H 12 fAeie
e B S 8 | ST g1 3FTel 6pm S0 & @
I &7 FEl A T BT
(A) 6:06 pm (B) 6:10 pm
(C) 6:20 pm (D) 6:12 pm

63. Ife 1 S, 2012 &1 foT wfFgR o drI, 1
STARY 2018 T DI AT fa=1 B |

(A) SR (B) 9far
(C) =faar (D) gpar

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

64. What figure will be formed if the paper is folded
and cut as given.

: !

A (B ©) (D)

65. What will be the water image of given figure (X)

&

X)

NG
o@

@b
e

64. Tl BRI BT o T frF &1 9ife JieT oIy
IR BT W AT =1 § & &4 A1 afrddl!

NN
W

@A) B © D)
65. fad T o (X) &1 ST ufafew grm—

&

X)

NG
o@

/
s
-
s
/
T~
-
’
-
s
-

@b
e

Space for rough work
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MOMENTUM TALENT SEARCH EXAM

66. If ‘TEACHER’ 1s coded as ‘VGCEJGT’. What
will be the code for ‘CHILDREN’?
(A) EJKNFTGP (B) EJXNFHTP
(C) EJKXNFGTO (D) EJKNEGTP

67. Find the missing nomber in given series.
0, 6, 24, 60, 120, 210, ?
(A) 240 (B) 290
(C) 336 (D) 540

68. Mohan starts from his house and walks 4 km
straight. He then turns towards his right and walks
2 km. He turns again to his right and walks 2 km.
Ifhe is North-West from the starting position now,
then in which dierction did he start in the

beginning?
(A) North (B) South
(C) East (D) Weat

69.Choose the correct option to complete the given
figure.

70. Choose the correct option in which given

figure(x) is embedded.

e

X) @ (®) {© ©)

66. g fHel diwfdd wem § ‘TEACHER® &l
‘VGCEJGT’ forar a1 & & ‘CHILDREN’ &f
P ybR forar SRETT?

(A) EJKXNFTGP (B) EJKNFHTP
(C) EJKNFGTO (D) EJKNEGTP

67. <1 A 2ol F SrguRerd ug B-
0, 6,24, 60, 120, 210, ?
(A) 240 (B) 290
(C) 336 (D) 540

68. AU BR ¥ Y& PR gU Al 4 faodio Hrem
ST 7 | {9 98 a1 g1 2 iR 2 fhowo Ferar
g g8 fie <R gear ? &R 2 faowo =erar & afe
Ig U 3RS Refy & Sor—ufdew feen # 2

a1 Sa b fasm 9 g far or?
(A) SR (B) =f&ror
(OFS] (D) ufeem

69.%@%ﬂﬁwmﬁ?ﬁm€%ﬁﬁw

70. o1 fawedl & & R o (X) foar @ s

SPLE

%

X) @ (®) {© ©)

Space for rough work
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C. QUESTION PAPER FORMAT
The question paper consists of 3 parts |, Il & Il Mathematics, Science & Reasoning respectively.

D. MARKING SCHEME

There are three parts in the question paper. The distribution of marks subjectwise in each part is
as under for each correct response :

PART SUBJECT QUESTION NO. MARKS
Part - | MATHEMATICS 01to 25 4
Part - Il SCIENCE 26 to 55 4
Part - Ill REASONING 56 to 70 4

You must fill the bubble in OMR in following manner. For example if only ‘b’ choice is correct then
A B C D

O

If you fill the bubble for any option other than the correct option then, your response will be
considered_incorrect. 1/4 (one four) of allotted marks i.e. 1 mark if a question carries 4 marks will
be deducted for indicating incorrect response of each question. No. deduction from the total score
will be made if no response is indicated for a question in the answer sheet.
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